MOJOTONE TWEED CHAMP WIRING DIAGRAM

1 AMP. FUSE LIGHT VOLUME 1M Log

]

J) #8 GROUND TAB
PT MUE‘%% STUD 4
- KY

’
/
/

#8 GRO / >
PT MO & 4
~~ J

C I I I I
T )
INSULATE W/
HEAT SHRINK
OR TAPE

MOJO760EX
POWER TRANSFORMER

NOS771

\ QUTPUT TRANSFORMER

5Y3 6V6 SPEAKER 12AX7

HARDWARE:

2 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKET
4 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS
6 QTY 4-40 KEPS NUTS

2 QTY 6-32 X 1/2" SCREWS FOR EYELET BOARD

2 QTY 6-32 KEPS NUTS mnﬂ " 5F1 TWEED CHAMP
2 QTY 8-32 X 1/4" SCREWS FOR OUTPUT TRANSFORMER REVISION 3

6 QTY 8-32 KEPS NUTS FOR TRANSFORMERS (s NI = 6/29/2023
2 QTY 10-32 X 1 1/2" SCREWS FOR CHASSIS
2 QTY 10-32 KEPS NUTS



